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1)

Question Stimulus :­

Fill in the blank with the correct option.

Netaji, the hero of Modern India, ______ remembered.

ought to be

ought not to be

might be

shall have

Correct Answer :­ought to be 

2)

Question Stimulus :­

Fill in the blank with the correct option.

Children ______taught to honor other people's opinions.

need to be

needs be

needs to be

needs to have

Correct Answer :­need to be 

3)

Question Stimulus :­

Fill in the blank with the correct option.

You ____ laugh at the mistakes of others.

cannot



might not

should not

could not

Correct Answer :­should not 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

There was no soap, so I just quickly rinsed my hands _____ the tap.

under

over

above

by

Correct Answer :­under 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

Archaeologists discovered a gold cup just _____the surface at the site of a Roman
villa.

beneath

across

beyond

off

Correct Answer :­beneath 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.



Inflation has fallen ______ 5% for the first time in six years.

above

below

over

across

Correct Answer :­below 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

The vegetables were cut ____ the maid ____ a sharp knife.

by, with

from, with

off, with

by, from

Correct Answer :­by, with 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

When we arrived at the station,

the train

have already left.

No error

Correct Answer :­have already left. 

9)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

William felt ill last night,

because he has eaten,

a large number of cakes and pastries.

No error

Correct Answer :­because he has eaten, 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If she had studied hard,

she would have passed

the English Language Test for the eligibility of Management Exams.

No error

Correct Answer :­No error 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

I will call the instructor

as soon as

I will reach home.

No error

Correct Answer :­I will reach home. 



12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

You have been

watching TV

since the last five hours.

No error

Correct Answer :­since the last five hours. 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Rebecca is one of

the most beautiful girls

of her class.

No error

Correct Answer :­No error 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

As soon as she 

got out of the bed

the telephone stopped ringing.

No error



Correct Answer :­No error 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

You won't lose any weight

 unless you start 

eating an healthier food.

No error

Correct Answer :­eating an healthier food. 

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

My book has been stolen.

Someone steals my book.

Someone stole my book.

Someone had stolen my book.

Someone has stolen my book.

Correct Answer :­Someone has stolen my book. 

17)

Question Stimulus :­

Out  of  the  given  options,  choose  the  one  which  is  the  correct  active  voice  of  the
sentence given below.

English is spoken in England.

People in England generally always speak English.

People in England are speaking English.



People in England speak English.

People in England speaks English.

Correct Answer :­People in England speak English. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the woodcutters.

The woodcutters cut the firewood.

The woodcutters are cutting the firewood.

The woodcutters have cut the firewood.

The woodcutters have been cutting the firewood.

Correct Answer :­The woodcutters are cutting the firewood. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Susan said to me, “you have been a very helpful person”.

Susan told me that I have been a very helpful person.

Susan told me that I was a very helpful person.

Susan told me that I had been a very helpful person.

Susan told me that I was being a very helpful person.

Correct Answer :­Susan told me that I had been a very helpful person. 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.



He said to me, “I do not trust you”.

He told me that he does not trust me.

He told me that he did not trust me.

He told me that he will not trust me.

He told me that he had not trusted me.

Correct Answer :­He told me that he did not trust me. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Patrick said, “I am going to finish this work now before I start a new work tomorrow”?

Patrick said that he is going to finish this work now before he started a new work
tomorrow.

Patrick said that he was going to finish that work now before he started a new
work the next day.

Patrick said that he was going to finish that work then before he started a new
work the next day.

Patrick said that he was going to finish that work then before he started a new
work tomorrow.

Correct Answer :­Patrick said that he was going to finish that work then before he
started a new work the next day. 

22)

Question Stimulus :­

Choose the grammatically correct sentence.

I saw an one­eyed man trying to cross the road yesterday.

I saw a one­eyed man trying to cross the road yesterday.

I saw the one­eyed man trying to cross the road yesterday.

I saw one­eyed man trying to cross the road yesterday.



Correct Answer :­I saw a one­eyed man trying to cross the road yesterday. 

23)

Question Stimulus :­

Fill in the blank with the correct option.

My neighbour was one of ____truly evil men I had ever encountered.

few

a few

the few

the little

Correct Answer :­the few 

24)

Question Stimulus :­

Fill in the blank with the correct option.

Tourists and locals alike last night flocked to the pub to see if they could capture _____
of the magic.

a little

few

the few

a few

Correct Answer :­a little 

25)

Question Stimulus :­

Fill in the blank with the correct option.

There was a flood, but ____ water actually got into the house.

little

a little



few

the little

Correct Answer :­little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave­like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave­like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

 

Why was the little girl crying?

Because while gathering flowers for worship she lost her way in the dense forest.

Because the flowers she had collected had decayed.

Because she was afraid of tall trees.

All of the above

Correct Answer :­Because while gathering flowers for worship she lost her way in the
dense forest. 



27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave­like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave­like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

 

Which word in the passage means ‘the state of being extremely poor’?

Approach

Poverty

Overcome

Benefactor

Correct Answer :­Poverty 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.



Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave­like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave­like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

 

What is the meaning of the word ‘wither’?

Blush

Bloom

Dry

Move

Correct Answer :­Dry 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the



little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave­like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave­like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

 

Why did the girl agree to take shelter in the night in an open cave­like place under the
tall pine tree?

Because she found the beautiful pine tree highly fascinating.

Because she was afraid of wild and ferocious animals.

Because she was spell bound by the magical powers of the pine tree.

None of the above

Correct Answer :­Because she was afraid of wild and ferocious animals. 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave­like place under him. The little
girl was frightened of wild animals.



The girl quickly crept into the cave­like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

 

What is the meaning of the word 'sobbing'?

to get extremely frightened.

To stare at something.

To cry noisily, taking in deep breaths.

None of the above

Correct Answer :­To cry noisily, taking in deep breaths. 

Topic:­ Hindi
1)

Question Stimulus :­

िनꀀ밂िल洀꼅खत ग븀眅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

⬀ꔃाचीनकाल म᠀㘆 जनक महाराज  िवदहे म᠀㘆 रा܉䈀 करत ेथ।े  िमिथला  िवदहे की राजधानी थी।  िमिथला नगरी म᠀㘆 राजमहल के आस­पास
कोई एक हजार स崀ं鸇ािसयो ंकी पण堀딄कुिटया ँथी।ं िमिथला के िसहंासन पर बठैन ेपर भी महाराज जनक को फकीरी का शौक था। कहा
जाता ह ैिक महाराज जनक ᠀㘆ानी थ।े व ेइस तरह राज­काज चलात ेथ,े मानो ꨀ숅य ंपरमाꄀ밂ा के  िवनयशील सवेक ह嘀堅। सबुह स ेसायं
तक सारे रा܉䈀 का ⬀ꔃबधं करत,े श븀䈆ओु ंका पता करत,े अपराधी को दडं दते,े लोक­कᨁ뀅ाण के उपाय करत ेऔर इतना सब कुछ
करन ेपर भी व ेिकसी सासंा᠀퀂रक काय堀딄 म᠀㘆 िल븀耈 नही ंहोत ेथ।े इसिलए लोग उनको िवदहे जनक कहत ेथ।े

 

िवदहे की राजधानी कहा ँथी?

अयो⨀焄ा

महोबा

िमिथला

븀ᤅा᠀퀂रका



Correct Answer :­िमिथला 

2)

Question Stimulus :­

िनꀀ밂िल洀꼅खत ग븀眅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

⬀ꔃाचीनकाल म᠀㘆 जनक महाराज  िवदहे म᠀㘆 रा܉䈀 करत ेथ।े  िमिथला  िवदहे की राजधानी थी।  िमिथला नगरी म᠀㘆 राजमहल के आस­पास
कोई एक हजार स崀ं鸇ािसयो ंकी पण堀딄कुिटया ँथी।ं िमिथला के िसहंासन पर बठैन ेपर भी महाराज जनक को फकीरी का शौक था। कहा
जाता ह ैिक महाराज जनक ᠀㘆ानी थ।े व ेइस तरह राज­काज चलात ेथ,े मानो ꨀ숅य ंपरमाꄀ밂ा के  िवनयशील सवेक ह嘀堅। सबुह स ेसायं
तक सारे रा܉䈀 का ⬀ꔃबधं करत,े श븀䈆ओु ंका पता करत,े अपराधी को दडं दते,े लोक­कᨁ뀅ाण के उपाय करत ेऔर इतना सब कुछ
करन ेपर भी व ेिकसी सासंा᠀퀂रक काय堀딄 म᠀㘆 िल븀耈 नही ंहोत ेथ।े इसिलए लोग उनको िवदहे जनक कहत ेथ।े

 

राजमहल के आस­पास िकन लोगो ंकी कुिटया ँथी?

फकीरो ंकी

स崀ं鸇ािसयो ंकी

श븀䈆ओु ंकी

इनम᠀㘆 स ेकोई नहीं

Correct Answer :­स崀ं鸇ािसयो ंकी 

3)

Question Stimulus :­

िनꀀ밂िल洀꼅खत ग븀眅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

⬀ꔃाचीनकाल म᠀㘆 जनक महाराज  िवदहे म᠀㘆 रा܉䈀 करत ेथ।े  िमिथला  िवदहे की राजधानी थी।  िमिथला नगरी म᠀㘆 राजमहल के आस­पास
कोई एक हजार स崀ं鸇ािसयो ंकी पण堀딄कुिटया ँथी।ं िमिथला के िसहंासन पर बठैन ेपर भी महाराज जनक को फकीरी का शौक था। कहा
जाता ह ैिक महाराज जनक ᠀㘆ानी थ।े व ेइस तरह राज­काज चलात ेथ,े मानो ꨀ숅य ंपरमाꄀ밂ा के  िवनयशील सवेक ह嘀堅। सबुह स ेसायं
तक सारे रा܉䈀 का ⬀ꔃबधं करत,े श븀䈆ओु ंका पता करत,े अपराधी को दडं दते,े लोक­कᨁ뀅ाण के उपाय करत ेऔर इतना सब कुछ
करन ेपर भी व ेिकसी सासंा᠀퀂रक काय堀딄 म᠀㘆 िल븀耈 नही ंहोत ेथ।े इसिलए लोग उनको िवदहे जनक कहत ेथ।े

 

महाराज जनक को 넀프ा शौक था?

⬀ꔃबधं काय堀딄 का

रा܉䈀 शासन का

फकीरी का



लोक­कᨁ뀅ाण को

Correct Answer :­फकीरी का 

4)

Question Stimulus :­

िनꀀ밂िल洀꼅खत ग븀眅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

⬀ꔃाचीनकाल म᠀㘆 जनक महाराज  िवदहे म᠀㘆 रा܉䈀 करत ेथ।े  िमिथला  िवदहे की राजधानी थी।  िमिथला नगरी म᠀㘆 राजमहल के आस­पास
कोई एक हजार स崀ं鸇ािसयो ंकी पण堀딄कुिटया ँथी।ं िमिथला के िसहंासन पर बठैन ेपर भी महाराज जनक को फकीरी का शौक था। कहा
जाता ह ैिक महाराज जनक ᠀㘆ानी थ।े व ेइस तरह राज­काज चलात ेथ,े मानो ꨀ숅य ंपरमाꄀ밂ा के  िवनयशील सवेक ह嘀堅। सबुह स ेसायं
तक सारे रा܉䈀 का ⬀ꔃबधं करत,े श븀䈆ओु ंका पता करत,े अपराधी को दडं दते,े लोक­कᨁ뀅ाण के उपाय करत ेऔर इतना सब कुछ
करन ेपर भी व ेिकसी सासंा᠀퀂रक काय堀딄 म᠀㘆 िल븀耈 नही ंहोत ेथ।े इसिलए लोग उनको िवदहे जनक कहत ेथ।े

 

महाराज जनक परमाꄀ밂ा स ेअपना 넀프ा सबंधं रखत ेथ े?

सवेक जसैा

श븀䈆 ुजसैा

राजा जसैा

उपय堀ु딄봀뼊 सभी

Correct Answer :­सवेक जसैा 

5)

Question Stimulus :­

िनꀀ밂िल洀꼅खत ग븀眅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

⬀ꔃाचीनकाल म᠀㘆 जनक महाराज  िवदहे म᠀㘆 रा܉䈀 करत ेथ।े  िमिथला  िवदहे की राजधानी थी।  िमिथला नगरी म᠀㘆 राजमहल के आस­पास
कोई एक हजार स崀ं鸇ािसयो ंकी पण堀딄कुिटया ँथी।ं िमिथला के िसहंासन पर बठैन ेपर भी महाराज जनक को फकीरी का शौक था। कहा
जाता ह ैिक महाराज जनक ᠀㘆ानी थ।े व ेइस तरह राज­काज चलात ेथ,े मानो ꨀ숅य ंपरमाꄀ밂ा के  िवनयशील सवेक ह嘀堅। सबुह स ेसायं
तक सारे रा܉䈀 का ⬀ꔃबधं करत,े श븀䈆ओु ंका पता करत,े अपराधी को दडं दते,े लोक­कᨁ뀅ाण के उपाय करत ेऔर इतना सब कुछ
करन ेपर भी व ेिकसी सासंा᠀퀂रक काय堀딄 म᠀㘆 िल븀耈 नही ंहोत ेथ।े इसिलए लोग उनको िवदहे जनक कहत ेथ।े

 

महाराज जनक रा܉䈀 चलान ेके िलए 넀프ा­넀프ा करत ेथ?े

रा܉䈀 का ⬀ꔃबधं करना

अपरािधयो ंको दडं दनेा



लोक­कᨁ뀅ाण के उपाय करना

उपय堀ु딄봀뼊 सभी

Correct Answer :­उपय堀ु딄봀뼊 सभी 

6)

Question Stimulus :­

िनꀀ밂िल洀꼅खत का崁뀅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

सकंटो ंस ेवीर घबरात ेनही,ं

आपदाएँ दखे िछप जात ेनही।ं

लग गए िजस काम म᠀㘆, परूा िकया,

काम करके 崁뀅थ堀딄 पछतात ेनही।ं

हो सरल अथवा किठन हो रा븀眅ा,

कम堀딄वीरो ंको न इसस ेवा븀眅ा।

बढ़ चल ेतो अतं तक ही बढ़ चल,े

किठनतर िग᠀퀂र娀褅गं ऊपर चढ़ चल।े

किठन पथ को दखे म냿ु眅ात ेसदा,

सकंटो ंके बीच व ेगात ेसदा।

ह ैअसभंव कुछ नही ंउनके िलए,

सरल­सभंव कर िदखात ेव ेसदा।

यह असभंव कायरो ंका शꀄ聀 ह,ै

कहा था नपेोिलयन न ेएक िदन।

सच बताऊँ, िज一꜅गी ही 崁뀅थ堀딄 ह,ै

दप堀딄 िबन, उꨀ밂ाह िबन, औ श洀꼅봀뼊 िबन।

 

कौन­ सा ल堀딄ण वीर प礀ु밂ष का नही ंह ै?

सकंटो ंस ेघबरात ेनहीं

आपदाएँ दखेकर िछप जात ेह嘀堅

अपन ेकाम को परूा करके ही दम लते ेह嘀堅



काम को करके पछतात ेनही ंह嘀堅

Correct Answer :­आपदाएँ दखेकर िछप जात ेह嘀堅 

7)

Question Stimulus :­

िनꀀ밂िल洀꼅खत का崁뀅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

सकंटो ंस ेवीर घबरात ेनही,ं

आपदाएँ दखे िछप जात ेनही।ं

लग गए िजस काम म᠀㘆, परूा िकया,

काम करके 崁뀅थ堀딄 पछतात ेनही।ं

हो सरल अथवा किठन हो रा븀眅ा,

कम堀딄वीरो ंको न इसस ेवा븀眅ा।

बढ़ चल ेतो अतं तक ही बढ़ चल,े

किठनतर िग᠀퀂र娀褅गं ऊपर चढ़ चल।े

किठन पथ को दखे म냿ु眅ात ेसदा,

सकंटो ंके बीच व ेगात ेसदा।

ह ैअसभंव कुछ नही ंउनके िलए,

सरल­सभंव कर िदखात ेव ेसदा।

यह असभंव कायरो ंका शꀄ聀 ह,ै

कहा था नपेोिलयन न ेएक िदन।

सच बताऊँ, िज一꜅गी ही 崁뀅थ堀딄 ह,ै

दप堀딄 िबन, उꨀ밂ाह िबन, औ श洀꼅봀뼊 िबन।

 

कम堀딄वीरो ंको िकस बात का वा븀眅ा नही ंहोता ?

माग堀딄 सरल ह ैअथवा किठन है

िग᠀퀂र娀褅गं किठनतर है

अतं तक बढ़त ेजाना है

िज一꜅गी 崁뀅थ堀딄 ह嘀堅



Correct Answer :­माग堀딄 सरल ह ैअथवा किठन ह ै

8)

Question Stimulus :­

िनꀀ밂िल洀꼅खत का崁뀅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

सकंटो ंस ेवीर घबरात ेनही,ं

आपदाएँ दखे िछप जात ेनही।ं

लग गए िजस काम म᠀㘆, परूा िकया,

काम करके 崁뀅थ堀딄 पछतात ेनही।ं

हो सरल अथवा किठन हो रा븀眅ा,

कम堀딄वीरो ंको न इसस ेवा븀眅ा।

बढ़ चल ेतो अतं तक ही बढ़ चल,े

किठनतर िग᠀퀂र娀褅गं ऊपर चढ़ चल।े

किठन पथ को दखे म냿ु眅ात ेसदा,

सकंटो ंके बीच व ेगात ेसदा।

ह ैअसभंव कुछ नही ंउनके िलए,

सरल­सभंव कर िदखात ेव ेसदा।

यह असभंव कायरो ंका शꀄ聀 ह,ै

कहा था नपेोिलयन न ेएक िदन।

सच बताऊँ, िज一꜅गी ही 崁뀅थ堀딄 ह,ै

दप堀딄 िबन, उꨀ밂ाह िबन, औ श洀꼅봀뼊 िबन।

 

किठन पथ को दखेकर कम堀딄वीरो ंकी 넀프ा ⬀ꔃितिꨀ댅या होती ह ै?

व ेिचिंतत हो जात ेह嘀堅

व ेम냿ु眅रात ेह嘀堅

व ेकाम करत ेह嘀堅

ऊपर चढ़त ेह嘀堅

Correct Answer :­व ेम냿ु眅रात ेह嘀堅 



9)

Question Stimulus :­

िनꀀ밂िल洀꼅खत का崁뀅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

सकंटो ंस ेवीर घबरात ेनही,ं

आपदाएँ दखे िछप जात ेनही।ं

लग गए िजस काम म᠀㘆, परूा िकया,

काम करके 崁뀅थ堀딄 पछतात ेनही।ं

हो सरल अथवा किठन हो रा븀眅ा,

कम堀딄वीरो ंको न इसस ेवा븀眅ा।

बढ़ चल ेतो अतं तक ही बढ़ चल,े

किठनतर िग᠀퀂र娀褅गं ऊपर चढ़ चल।े

किठन पथ को दखे म냿ु眅ात ेसदा,

सकंटो ंके बीच व ेगात ेसदा।

ह ैअसभंव कुछ नही ंउनके िलए,

सरल­सभंव कर िदखात ेव ेसदा।

यह असभंव कायरो ंका शꀄ聀 ह,ै

कहा था नपेोिलयन न ेएक िदन।

सच बताऊँ, िज一꜅गी ही 崁뀅थ堀딄 ह,ै

दप堀딄 िबन, उꨀ밂ाह िबन, औ श洀꼅봀뼊 िबन।

 

नपेोिलयन न ेएक िदन 넀프ा कहा था?

य倁ु偐 करो

िवजय ⬀ꔃा븀耈 करो

असभंव कायरो ंका शꀄ聀 है

िज一꜅गी 崁뀅थ堀딄 है

Correct Answer :­असभंव कायरो ंका शꀄ聀 ह ै

10)



Question Stimulus :­

िनꀀ밂िल洀꼅खत का崁뀅ाशं को ⨀焄ानपवू堀딄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ琄िवक뗼�ी ⬀ꔃ� नो ंम᠀㘆 सही िवक뗼� का चयन कर᠀㘆।

 

सकंटो ंस ेवीर घबरात ेनही,ं

आपदाएँ दखे िछप जात ेनही।ं

लग गए िजस काम म᠀㘆, परूा िकया,

काम करके 崁뀅थ堀딄 पछतात ेनही।ं

हो सरल अथवा किठन हो रा븀眅ा,

कम堀딄वीरो ंको न इसस ेवा븀眅ा।

बढ़ चल ेतो अतं तक ही बढ़ चल,े

किठनतर िग᠀퀂र娀褅गं ऊपर चढ़ चल।े

किठन पथ को दखे म냿ु眅ात ेसदा,

सकंटो ंके बीच व ेगात ेसदा।

ह ैअसभंव कुछ नही ंउनके िलए,

सरल­सभंव कर िदखात ेव ेसदा।

यह असभंव कायरो ंका शꀄ聀 ह,ै

कहा था नपेोिलयन न ेएक िदन।

सच बताऊँ, िज一꜅गी ही 崁뀅थ堀딄 ह,ै

दप堀딄 िबन, उꨀ밂ाह िबन, औ श洀꼅봀뼊 िबन।

 

िज一꜅गी िकसके िबना 崁뀅थ堀딄 ह?ै

दप堀딄 के िबना

उꨀ밂ाह के िबना

श洀꼅봀뼊 के िबना

उपरो봀뼊 सभी के िबना

Correct Answer :­उपरो봀뼊 सभी के िबना 

11)

Question Stimulus :­



िकस शꀄ聀 म᠀㘆 उपसग堀딄 का ⬀ꔃयोग िकया गया ह­ै

उपकार

लाभदायक

पढ़ाई

अपनापन

Correct Answer :­उपकार 

12)

Question Stimulus :­

‘‘崁뀅व�था’’ के पवू堀딄 कौन­सा उपसग堀딄 लगाय᠀㘆 िक उसका अथ堀딄 िवपरीत हो जाए?

अ

आ

अप

प᠀퀂र

Correct Answer :­अ 

13)

Question Stimulus :­

‘कृद᠀㘆’ ⬀ꔃꨀ묅य जोड़ ेजात ेह嘀堅­

िवशषेण म᠀㘆

स᠀ं㘆ा म᠀㘆

सव堀딄नाम म᠀㘆

िꨀ댅या म᠀㘆

Correct Answer :­िꨀ댅या म᠀㘆 

14)

Question Stimulus :­

‘‘त洀꼅倁偐त’’ ⬀ꔃꨀ묅य वाला शꀄ聀 ह­ै

पढ़ाई



जागिृत

किथत

निैतक

Correct Answer :­निैतक 

15)

Question Stimulus :­

᠀퀂र봀뼊 �थान के िलए उिचत महुावर᠀㘆 का चयन कीिजए­

इस वष堀딄 मरेा बलै भी मर गया और चोरी भी हो गई, इसी को कहत ेह嘀堅................

दाल म᠀㘆 कुछ काला ह嘀堅

कंगाली म᠀㘆 आटा गीला

काला अ堀딄र भ嘀堅स बराबर

एक पथं दो काज

Correct Answer :­कंगाली म᠀㘆 आटा गीला 

16)

Question Stimulus :­

“बꨀ琄त प᠀퀂र娀褅म करना” िनꀀ밂 म᠀㘆 स ेिकस महुावरे का अथ堀딄 नही ंह­ै

हाथ पावँ मारना

खनू पसीना एक कर दनेा

गाल बजाना

को�븀옆 का बलै होना

Correct Answer :­गाल बजाना 

17)

Question Stimulus :­

‘स᠀ं㘆ाहीन हो जाना’ के िलए सही महुावरा ह­ै

काठ मार जाना

चहेरे पर हवाइया ँउड़ना



मुँह उतरना

कान पर जूँ तक न र᠀㘆गना

Correct Answer :­काठ मार जाना 

18)

Question Stimulus :­

‘अ᠀㘆ये’ शꀄ聀 के िलए वा넀프ाशं का चयन कीिजए­

िजस ेदखेा न जा सके

िजस ेसनुा न जा सके

िजस ेजाना न जा सके

िजस ेगाया न जा सके

Correct Answer :­िजस ेजाना न जा सके 

19)

Question Stimulus :­

िदय ेगय ेवा넀프ाशं के िलए एक शꀄ聀 का ⬀ꔃयोग कीिजए­

‘प⬀ꔃीस वष堀딄 परूे करन ेके उपल堀倅 म᠀㘆 होन ेवाला उꨀ밂व’

हीरक जयतंी

रजत जयतंी

ꨀ숅ण堀딄 जयतंी

इनम᠀㘆 स ेकोई नहीं

Correct Answer :­रजत जयतंी 

20)

Question Stimulus :­

िनꀀ밂 प洀ं꼅봀뼊यो ंम᠀㘆 कौन­सा छंद ह ै?

‘‘िबन ुसत सगं िववके न होई, राम कृपा िबन सलुभ न सोई।

सत सगंित मदु मगंल मलूा, तई फल िसिध सब साधन फूला ।।’’

दोहा



सोरठा

चौपाई

गीितका

Correct Answer :­चौपाई 

21)

Question Stimulus :­

िनꀀ밂 प洀ं꼅봀뼊यो ंम᠀㘆 कौनसा छंद ह­ै

‘‘सनु केवट के बनै, ⬀ꔃमे लपटे ेअटपट।े

िबहस ेक븀ᤅणाएन, िचतिह जानकी लखन तन।।’’

बरवै

सोरठा

दोहा

चौपाई

Correct Answer :­सोरठा 

22)

Question Stimulus :­

अपन ेस ेबड़ो ंके िलए प븀䈆 िलखत ेसमय उपसहंार होगा­

आपका आ᠀㘆ाकारी

आपका 吀倅हेपा븀䈆

आपका कृपाका堀ं딄ी

उपय堀ु딄봀뼊 सभी

Correct Answer :­उपय堀ु딄봀뼊 सभी 

23)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स ेश倁ु偐 वत堀딄नी का चयन कीिजए­

ऐयास



औगणु

एनक

एलन

Correct Answer :­औगणु 

24)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स ेअश倁ु偐 वत堀딄नी का चयन कीिजए­

अिधन

इ嘀堅

ईमानदार

उपल堀倅

Correct Answer :­अिधन 

25)

Question Stimulus :­

‘राजभाषा’ का सही अथ堀딄 ह­ै

िकसी रा܉䈀 की िवशषे मातभृाषा

सव堀딄साधारण की मातभृाषा

श倁ु偐 और सािह洀꼅ꨀ묅क भाषा

सरकारी काया堀딄लयो ंम᠀㘆 ⬀ꔃय봀ु뼊 होन ेवाली भाषा

Correct Answer :­सरकारी काया堀딄लयो ंम᠀㘆 ⬀ꔃय봀ु뼊 होन ेवाली भाषा 

26)

Question Stimulus :­

‘रानी केतकी की कहानी’ रचना की भाषा ह­ै

िह�दु븀眅ानी

खड़ी बोली



उदू堀딄

अरबी­फारसी िमि娀褅त

Correct Answer :­खड़ी बोली 

27)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स े‘प謀켇र’ का पया堀딄यवाची नही ंह­ै

अ� म

िवटप

पाषाण

उपल

Correct Answer :­िवटप 

28)

Question Stimulus :­

‘पꨀु琄प’ िनꀀ밂 म᠀㘆 स ेिकसका पया堀딄यवाची ह­ै

⬀ꔃसनू

व堀딄

गाछ

पादप

Correct Answer :­⬀ꔃसनू 

29)

Question Stimulus :­

‘ससरुाल’ का तꨀ밂म शꀄ聀 ह­ै

ꨀ숅सरुाᨁ뀅

सासरो

पीहर



इनम᠀㘆 स ेकोई नहीं

Correct Answer :­ꨀ숅सरुाᨁ뀅 

30)

Question Stimulus :­

‘दतंधावन’ का त堀縅व शꀄ聀 ह­ै

ट瀀ं혂ीनर

⬀뤃श

दातौन

दतं

Correct Answer :­दातौन 

31)

Question Stimulus :­

‘अ⤀댅दुय’ म᠀㘆 कौन सी सिंध ह­ै

यण सिंध

गणु सिंध

दीघ堀딄 सिंध

व洀꼅倁偐 सिंध

Correct Answer :­यण सिंध 

32)

Question Stimulus :­

‘िप븀䈆ादशे’ का सिंध िव꤀缆दे ह­ै

िपतःृ+आदशे

िपत+ृआदशे

िपता+आदशे

िपत+ृअ+आदशे



Correct Answer :­िपत+ृआदशे 

33)

Question Stimulus :­

‘िद�꤀缆म’ का सिंध िव꤀缆दे ह­ै

िदक्+꤀缆म

िदग+्꤀缆म

िदगः+꤀缆म

िदक+अ꤀缆म

Correct Answer :­िदक्+꤀缆म 

34)

Question Stimulus :­

िनꀀ밂 वा넀프ाशंो ंको उिचत ꨀ댅म म᠀㘆 崁뀅व洀꼅�थत कीिजए­

(य) बाल मꨀृ묅 ुकी दर अꨀ묅िधक थी

(र) वत堀딄मान शताꀄ聀ी

(ल) दशको ंस ेपवू堀딄

(व) के ⬀ꔃारंिभक

व ल य र

ल य व र

र व ल य

य र ल व

Correct Answer :­र व ल य 

35)

Question Stimulus :­

िनꀀ밂 वा넀프ाशंो ंको उिचत ꨀ댅म म᠀㘆 崁뀅व洀꼅�थत कीिजए­

(य) बकेारी की सम븀⬆ा

(र) बढ़ती जा रही है



(ल) िशि堀딄त वग堀딄 की

(व) िदन ⬀ꔃितिदन

ल य व र

य व र ल

व र ल य

र ल य व

Correct Answer :­ल य व र 

36)

Question Stimulus :­

का崁뀅 म᠀㘆 जहा ँ⬀ꔃशसंा के 븀ᤅारा िनदंा अथवा िनदंा के 븀ᤅारा ⬀ꔃशसंा की जाती ह ैवहा ँकौन सा अलंकार होता ह?ै

आ堀딄पे

ꨀᨈाज 븀眅िुत

आ⬀ꔃ븀眅तु ⬀ꔃशसंा

िनदंा अलकंार

Correct Answer :­ꨀᨈाज 븀眅िुत 

37)

Question Stimulus :­

िनꀀ밂 प洀ं꼅봀뼊यो ंम᠀㘆 कौन­सा अलकंार ह­ै

‘‘पीय के िनकट जाके, नही ंघाम चादँनी तािह ।

पीय के िनकट जाके नही,ं घाम चादँनी तािह ।।’’

छेकान⬀ुꔃास

वꨀ묅ान⬀ुꔃास

लाटान⬀ुꔃास

娀褅तुयान⬀ुꔃास

Correct Answer :­लाटान⬀ुꔃास 

38)



Question Stimulus :­

िनꀀ밂 म᠀㘆 स᠀㘆 अश倁ु偐 वा넀프 छािँटए­

व ेहाथी पागल ह嘀堅।

वह हाथी पागल हो गया।

वह पागल हाथी हो गया।

वह हाथी ह।ै

Correct Answer :­वह पागल हाथी हो गया। 

39)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स᠀㘆 श倁ु偐 वा넀프 छािँटए ­

म嘀堅 ⬀ꔃद堀딄शनी दखेी।

崁뀅洀꼅봀뼊यो ंन े⬀ꔃद堀딄शनी दखेी।

अनकेो ं崁뀅洀꼅봀뼊यो ंन े⬀ꔃद堀딄शनी दखेी।

崁뀅洀꼅봀뼊यो ंन ेमलेा दखेी।

Correct Answer :­崁뀅洀꼅봀뼊यो ंन े⬀ꔃद堀딄शनी दखेी। 

40)

Question Stimulus :­

िनꀀ밂 प洀ं꼅봀뼊यो ंका स堀ं딄पेण कीिजए­

 

अधंकार म᠀㘆 崁뀅洀꼅봀뼊 भटक कर सो जाता ह।ै वह असहाय हो जाता ह।ै उस ेलगता ह ैिक उसके हाथ म᠀㘆 कुछ भी नही।ं इसिलए वह
िनराशा का िशकार हो जाता ह।ै कुछ आꄀ밂िव� वासी लोग अधँरेे म᠀㘆 भी ⬀ꔃकाश की िकरण लान ेके िलए बचेनै रहत ेह嘀堅। यह सघंष堀딄 ही
वा븀眅िवक मानव की पहचान ह।ै जो 崁뀅洀꼅봀뼊 सघंष堀딄 करता ह,ै उस ेकुछ न कुछ सफलता अव� य िमलती ह।ै चाह ेउस ेजगुन ूकी रोशनी
िमल ेया िदय ेकी, उसके मन म᠀㘆 एक िव� वास जꀎ偐 लतेा ह।ै यहा ँतक िक कभी ­ कभी उसकी अपनी आखँो ंकी रोशनी ही तजे हो
जाती ह,ै इसिलए उस ेरात के घन ेअधँरेे म᠀㘆 भी िदखन ेलगता ह।ै य ेही लोग समाज की आशा बनत ेह嘀堅।

娀褅म का मह眀騅

मज़हब नही ंिसखाता आपस म᠀㘆 बरै रखना

सब िदन रहत न एक समान

नर हो न िनराश करो मन को, कुछ काम करो कुछ काम करो



Correct Answer :­नर हो न िनराश करो मन को, कुछ काम करो कुछ काम करो 

41)

Question Stimulus :­

इनम᠀㘆 स ेकौन­सा िवक뗼� बाकी तीनो ंिवक뗼�ो ंस ेपरूी तरह अलग ह ै?

कमल

चमलेी

जाम

जहूी

Correct Answer :­जाम 

42)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स े‘हसं’ शꀄ聀 का अनकेाथ뀅 शꀄ聀 ह­ै

जीवाꄀ밂ा

जीभ

जीत

जन

Correct Answer :­जीवाꄀ밂ा 

43)

Question Stimulus :­

‘अभो㐀밂’ के िलए िवलोम श� द होगा­

अभो܉䈀

भो܉䈀

भो㐀밂

भोगी

Correct Answer :­भो㐀밂 

44)



44)

Question Stimulus :­

‘मधरु’ का िवलोम इनम᠀㘆 स ेनही ंह­ै

कटु

कक堀딄श

ती騀儇ण

मदृलु

Correct Answer :­मदृलु 

45)

Question Stimulus :­

जब िकसी भाव या शꀄ聀 की अलग 崁뀅ाꨀ댅ा करना चाहत ेह嘀堅, िकंत ुउस अशं को मलू वा넀프 स ेअलग ही रखना चाहत ेह嘀堅,
तो.................िवराम िच븀伉 का ⬀ꔃयोग िकया जाता ह­ै

समानता सचूक

िनद嘀堅श

को᠀㘆क

उ倁偐रण

Correct Answer :­को᠀㘆क 

46)

Question Stimulus :­

‘रामच᠀퀂रतमानस’ कौन­सा छंद का崁뀅 ह?ै

माि븀䈆क

शा洀꼅ꀄ聀क

वािण堀딄क

उपरो봀뼊 सभी

Correct Answer :­माि븀䈆क 

47)

Question Stimulus :­



आचाय堀딄 भरत न ेिकस रस को सवा堀딄िधक सखुाꄀ밂क रस माना ह?ै

क븀ᤅण रस

वीर रस

सयंोग 娀褅ृंगार रस

हा븀⬆ रस

Correct Answer :­हा븀⬆ रस 

48)

Question Stimulus :­

केशवदास न ेअपनी िकस रचना म᠀㘆 रस का िववचेन िकया ह?ै

किवि⬀ꔃया

रिसक ि⬀ꔃया

रामच洀꼅븀쐆का

िव᠀㘆ान गीता

Correct Answer :­रिसक ि⬀ꔃया 

49)

Question Stimulus :­

श崀ू鸇 और श洀꼅봀뼊 नामक िनबधं के रचनाकार ह嘀堅­

डॉ. रामकुमार वमा堀딄

अमतृलाल नागर

सयू堀딄कातं ि븀䈆पाठी िनराला

िगरजाकुमार माथरु

Correct Answer :­सयू堀딄कातं ि븀䈆पाठी िनराला 

50)

Question Stimulus :­

‘‘िबखरे मोती’’ रचना के रचनाकार ह嘀堅­

महादवेी वमा堀딄



सभु洀꼅ाकुमारी चहैान

च一꜅बरदाई

रसखान

Correct Answer :­सभु洀꼅ाकुमारी चहैान 

51)

Question Stimulus :­

दिैनक समाचार प븀䈆 नई दिुनया का शभुारंभ कब िकया गया था?

5 जनू 1947

5 जनू 1949

5 जनू 1955

5 जनू 1970

Correct Answer :­5 जनू 1947 

52)

Question Stimulus :­

िनꀀ밂 पहलेी के िलय ेसही उ⤀琅र का चयन कीिजए­

‘‘टढ़ेी ितरछी बासंरुी कौन बजाय, ससरुाल जान ेवाली लड़की को कौन मनाय।।’’

सड़क

नदी

बासंरुी

सप堀딄

Correct Answer :­नदी 

53)

Question Stimulus :­

िनꀀ밂 पहलेी के िलय ेसही उ⤀琅र का चयन कीिजए ­

‘‘दो मुँह छोट ेएक मुँह बड़ा, आधा मानसु लील ेखड़ा।

बीचो­ंबीच लगाव ेफासँी, अथ堀딄 बताय तो आव ैहासँी।।’’



कुता堀딄

घाघरा

धोती

पजामा

Correct Answer :­पजामा 

54)

Question Stimulus :­

‘य ्+ उ + ध ्+ इ + ष ्+ ठ् + इ + र् + अ’ का श倁ु偐 वत堀딄नी स堀ं딄पेण होगा­

यधुि᠀㘆र

यिुधि᠀㘆र

यधुीि᠀㘆र

यिुध᠀㘆र

Correct Answer :­यिुधि᠀㘆र 

55)

Question Stimulus :­

‘娀褅ृंगार’ का श倁ु偐 वत堀딄नी िव� लषेण होगा­

श ्+ ऋ + ग ्+ आ + र् + अ

श ्+ ऋ + ङ् + ग ्+ अ ं+ र् + अ

श ्+ ऋ + ङ् + ग ्+ आ + र् + अ

श ्+ ऋ + ङ् + ग ्+ आ + र + आ

Correct Answer :­श ्+ ऋ + ङ् + ग ्+ आ + र् + अ 

56)

Question Stimulus :­

िनꀀ밂 ⬀ꔃ� न के श� द­य븀ुᤅ के अथ堀딄­भदे म᠀㘆 स ेकौन सा गलत ह?ै

कंकड़ी­ककड़ी = छोटा कंकड़­एक ⬀ꔃिस倁偐 तरकारी



ओटना­औटना = िबनौल ेअलग करना­खौलना

उतर­उ⤀琅र = ऊपर­जवाब

आयत­आयात = लबंा चौड़ा­दशे म᠀㘆 माल लाना

Correct Answer :­उतर­उ⤀琅र = ऊपर­जवाब 

57)

Question Stimulus :­

‘‘अनसुार­अनꨀु숅ार’’ य븀ुᤅ का सही अथ堀딄 होगा­

अन븀ुᤅप­ꨀ숅र का नािसकीय 븀ᤅप

ꨀ숅र का अनािसकीय 븀ᤅप­ अन븀ुᤅप

ꨀ숅븀ᤅप­ꨀ숅र का नािसकीय

ꨀ숅र का अनािसकीय 븀ᤅप­ ꨀ숅븀ᤅप

Correct Answer :­अन븀ुᤅप­ꨀ숅र का नािसकीय 븀ᤅप 

58)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स े‘क嘀堅’ का समानाथ뀅 शꀄ聀 नही ंह­ै

दःुख

崁뀅ािध

पीड़ा

स娀ु褅शूा

Correct Answer :­स娀ु褅शूा 

59)

Question Stimulus :­

िनꀀ밂िल洀꼅खत वा넀프 म᠀㘆 स ेरेखािंकत शꀄ聀 के समानाथ뀅 शꀄ聀 का चयन कीिजए­

‘‘खग­कुल कुल­कुल सा बोल रहा िकसलय का अचंल डोल रहा।’’

प⤀琅ा

फूल



उपवन

फल

Correct Answer :­उपवन 

60)

Question Stimulus :­

‘नीलकमल’ का समास िवꨀ댅ह होगा­

नीला ह ैजो कमल

नीला कमल

नील ेरंग का कमल

कमल ह ैनील ेरंग का

Correct Answer :­नीला ह ैजो कमल 

61)

Question Stimulus :­

‘यथामित’ शꀄ聀 िकस समास का उदाहरण ह?ै

त逎偐븀ुᤅष समास

븀ᤅ�븀ᤅ समास

कम堀딄धाराय समास

अ崁뀅यीभाव समास

Correct Answer :­अ崁뀅यीभाव समास 

62)

Question Stimulus :­

िनꀀ밂 वा넀프ो म᠀㘆 स᠀㘆 सयं봀ु뼊 वा넀프 का चयन कीिजए­

न एक ठीक ह ैन दूसरा।

दोनंो म᠀㘆 स ेएक कोई काम परूा नही ंꨀ琄आ।

दरवाजा बदं कर दो।



इनम᠀㘆 स ेकोई नहीं

Correct Answer :­न एक ठीक ह ैन दूसरा। 

63)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स᠀㘆 कत堀ृ딄 वा꤀缆 होगा­

उमशे स᠀㘆 हसँा गया।

आप गाना गाइए।

सलौनी स ेहसंा नही जाता।

इनम᠀㘆 स ेकोई नहीं

Correct Answer :­आप गाना गाइए। 

64)

Question Stimulus :­

‘Spill the beans’ का अनवुाद ह­ै

रह븀⬆ उजागर कर दनेा

सम븀⬆ा को और बरुा होन ेस ेरोकना

रह븀⬆ को रह븀⬆ रखना

इनम᠀㘆 स ेकोई नहीं

Correct Answer :­रह븀⬆ उजागर कर दनेा 

65)

Question Stimulus :­

‘िबगड़ी दशा म᠀㘆’ शꀄ聀 का अꨀ댅जेी पया堀딄य ह­ै

Out of stock

Out of order

Out of date

Out of limit



Correct Answer :­Out of order 

66)

Question Stimulus :­

‘छछू一꜅र के िसर म᠀㘆 चमलेी का तले’ लोको洀꼅봀뼊 का 넀프ा अथ堀딄 ह?ै

दान के िलए सपुा븀䈆 न होना

गजं े崁뀅洀꼅봀뼊 के िसर पर सगुिंधत तले लगाना

िब전ल अनपढ़ 崁뀅洀꼅봀뼊 को धन िमलना

अयो㐀밂 崁뀅洀꼅봀뼊 को अ꤀缆ा पद िमलना

Correct Answer :­अयो㐀밂 崁뀅洀꼅봀뼊 को अ꤀缆ा पद िमलना 

67)

Question Stimulus :­

‘कु퀜聀ार अपना ही घड़ा सराहता ह’ै लोको洀꼅봀뼊 का 넀프ा अथ堀딄 ह?ै

अपनी ही ⬀ꔃशसंा करना

अपनी बनाई ꨀ琄ई व븀眅 ुसबको अ꤀缆ी लगती है

िकसी को बोलन ेनही ंदनेा

दूसरो ंकी व븀眅 ुको त꤀ु缆 समझना

Correct Answer :­अपनी बनाई ꨀ琄ई व븀眅 ुसबको अ꤀缆ी लगती ह ै

68)

Question Stimulus :­

‘‘यह ⬀ꔃमे का पथं कराल महा,            …………………….।’’

उपय堀ु딄봀뼊 लोको洀꼅봀뼊 को पणू堀딄 कीिजए­

अ븀ᤅ नहे सो ंनाती बड़ावतो ंहै

तलवार की धार प ैधावनो है

दखुदायी और घोर सतावनी है

मन ही मन म᠀㘆 उर भावनी है



Correct Answer :­तलवार की धार प ैधावनो ह ै

69)

Question Stimulus :­

िनꀀ밂 म᠀㘆 स ेकौन सी पि嘀堅मी िहदंी की बोली नही ंह­ै

बुंदलेी

⬀뤃ज

क最촆ौजी

बघलेी

Correct Answer :­बघलेी 

70)

Question Stimulus :­

‘‘अप꤀缆शं’’ शꀄ聀 का ⬀ꔃयोग सव堀딄⬀ꔃथम िकसन ेिकया­

भरत

पतजंिल

राजशखेर

भामह

Correct Answer :­पतजंिल 

Topic:­ General Knowledge 
1)

Question Stimulus :­

Which of the following is NOT included in the Union List? / सघं सचूी म᠀㘆 िनꀀ밂 म᠀㘆 स े넀프ा शािमल नही ंह?ै

Railway Service / रेलव ेसवेा

Naval / नौसनेा

Atomic Energy / परमाण ुऊजा堀딄

Travel / या븀䈆ा



Correct Answer :­Travel / या븀䈆ा 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below:
/ िनꀀ밂 को िमलाएं और नीच ेिदए गए कोडो ंम᠀㘆 सही उ⤀琅र का चयन कर᠀㘆:

   List­I                    List­II

1. Sikkim                   a. Agartala

2. Rajasthan              b. Imphal

3. Manipur                 c. Jaipur

4. Tripura                  d. Gangtok

   सिूच­I                      सिूच­II

1. िस洀꼅堀츅म                   a. अगरतला

2. राज�थान                   b. इ�फाल

3. मिणपरु                     c. जयपरु

4. ि븀䈆परुा                       d. गगंटोक

1­c, 2­d, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­d, 2­c, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

The size of the perimeter of the square ABCD is equal to 100 cm. The length of the segment
MN is equal to 5 cm and the triangle MNC is isosceles.  The area of the pentagon ABNMD
can be calculated using  ______________ / वग堀딄 ABCD के प᠀퀂रमाप का साइज़ 100 समेी ह।ै खडं MN की



लᤀᤈाई 5 समेी ह ैऔर MNC समि븀ᤅ बाꨀ琄 ि븀䈆भजु ह।ै पचंभजु ABNMD का 堀딄븀े䈆फल____________का ⬀ꔃयोग करके
िनकाला जा सकता है

Area of ABNMD =  100 – ½ x MC x NC / ABNMD का 堀딄븀े䈆फल= 100 – ½ x MC x NC

Area of ABNMD =  252  +  ½ x MC x NC / ABNMD का 堀딄븀े䈆फल=  252  +  ½ x MC x NC

Area of ABNMD =  100 + ½ x MC x NC / ABNMD का 堀딄븀े䈆फल=  100 + ½ x MC x NC

Area of ABNMD =  252  ­ ½ x MC x NC /  ABNMD का 堀딄븀े䈆फल=  252  ­ ½ x MC x NC

Correct Answer :­Area of ABNMD =  252  ­ ½ x MC x NC /  ABNMD का 堀딄븀े䈆फल=  252  ­ ½ x
MC x NC 

4)

Question Stimulus :­

A small arrow or blinking symbol on computer screen desktop is called a __________ / छोटा सा बाण या क�猀錅टूर
鯿倅ीन पर झपकता ꨀ琄आ ⬀ꔃतीक__________कहलाता है

Mouse / माउस

Tab / टबै

Cursor / कस堀딄र

Icon / ⬀ꔃितमा

Correct Answer :­Cursor / कस堀딄र 

5)

Question Stimulus :­

If the compound interest of a sum at the rate of 10% per annum for the third year is Rs.800 then the compound
interest for the same amount for the fourth year is Rs_____ . / यिद एक धनरािश का चꨀ댅व洀ृ꼅倁偐 ꨀᨈाज 10 ⬀ꔃितशत
की दर स ेतीसरे वष堀딄 के िलय े800 븀ᤅ ह,ै तो उसी धनरािश के िलय ेचौथ ेवष堀딄 के िलय ेचꨀ댅व洀ृ꼅倁偐 ꨀᨈाज_____븀ᤅ होगा|

800

1680

80

Correct Answer :­  



6)

Question Stimulus :­

The following set of coordinates represent relations between X and Y.  The one set which
does not belong to this group is ______________  / िनद嘀堅शाकंो ंके िनꀀ밂 सटे X और Y के बीच का सबंधं
दशा堀딄त ेह嘀堅| वह एक सटे जो इस समहू स ेसᤀᤈिंधत नही ंह_ै_____________

{(2, 4), (3, 9), (4, 16), (5, 25)}

{(2, 2), (3, 2), (4, 2), (5, 2)}

{(2, 2), (2, 4), (3, 6), (3, 9)}

{(2, 7), (3, 10), (4, 13), (5, 16)}

Correct Answer :­{(2, 2), (2, 4), (3, 6), (3, 9)} 

7)

Question Stimulus :­

The field in a database is _________. / एक डटेाबसे म᠀㘆 फी� _________ ह|ै

Table of Information / सचूना की सारणी

Data / डटेा

Category of information / सचूना की 娀褅णेी

Record / ᠀퀂रकॉड堀딄

Correct Answer :­Category of information / सचूना की 娀褅णेी 

8)

Question Stimulus :­

The difference in the  ______________ of the __________________________ determines
an expression’s status as an ________________________ or an ________________  /
______का________म᠀㘆 अतंर एक अिभ崁뀅洀꼅봀뼊 का ओहदा 崁뀅봀뼊 करता ह ै_____के 븀ᤅप म᠀㘆 या____के 븀ᤅप म᠀㘆

power, variable, identity, equation / चर, बल, पहचान, समीकरण

Value, variable, binomial, equation / चर, मान, ि븀ᤅपद, समीकरण

Value, power, identity, equation / बल, मान, पहचान, समीकरण

Value, variable, identity, equation / चर, मान, पहचान, समीकरण



Correct Answer :­Value, variable, identity, equation / चर, मान, पहचान, समीकरण 

9)

Question Stimulus :­

Where is Siddhivinayak Temple located / िस洀꼅倁偐िवनायक मिंदर कहा ँ洀꼅�थत है

Karnataka / कना堀딄टक

Maharashtra / महारा嘀堅堀딄

Odisha / ओड़ीशा

Andhra Pradesh / आ븀锇 ⬀ꔃदशे

Correct Answer :­Maharashtra / महारा嘀堅堀딄 

10)

Question Stimulus :­

The product of (2x3 – 5x2 – x + 7) and  (3 ­ 2x + 4x2) is ______________ / (2x3 – 5x2 – x
+ 7) और (3 ­ 2x + 4x2) का गणुनफल ह_ै______

8x5 ­ 20x4 –   4x3 + 28x2

6x3 – 15x2 ­   3x + 21

­  4x4 + 10x3 +   2x2 – 14x  + 28 x3

8x5 – 24x4 + 12x3 + 15x2 – 17x + 21

Correct Answer :­8x5 – 24x4 + 12x3 + 15x2 – 17x + 21 

11)

Question Stimulus :­

Common salt is a mineral composed primarily of ___./ साधारण नमक मꨀु댅 븀ᤅप स े___ स ेबना एक खिनज ह।ै

Sodium bicarbonate / सोिडयम बाइकाबᰀꐆनटे

Sodium Chloride / सोिडयम 瀀혂ोराइड

Sodium hydroxide / सोिडयम हाइड堀딄ॉ堀倅ाइड

Sodium oxide / सोिडयम ऑ堀倅ाइड



Correct Answer :­Sodium Chloride / सोिडयम 瀀혂ोराइड 

12)

Question Stimulus :­

Which of the following States celebrated the Red Panda Winter Festival in 2016? / िनꀀ밂िल洀꼅खत म᠀㘆 स ेिकस रा܉䈀 ने
2016 म᠀㘆 लाल पाडंा शीतकालीन महोꨀ밂व मनाया?

Nagaland / नागाल嘀堅ड

Meghalaya / मघेालय

Assam / असम

Sikkim / िस洀꼅堀츅म

Correct Answer :­Assam / असम 

13)

Question Stimulus :­

Vikram Sarabhai Space Center is located at_________/ िवꨀ댅म साराबाई अतं᠀퀂र堀딄 क᠀㘆洀꼅 _____ म᠀㘆 洀꼅�थत है

Thirivananthapuram / ित礀밂वनतंपरुम

Mumbai / मुंबई

Sriharikota / 娀褅ीह᠀퀂रकोटा

Bangalore / ब᠀㘆गलरू

Correct Answer :­Thirivananthapuram / ित礀밂वनतंपरुम 

14)

Question Stimulus :­

The table shows the scores of 20 students on a history test. __________ histogram is the exact representation of the
data. / टबेल 20 छा븀䈆ो ंके इितहास की परी堀딄ा के 냿眅ोर िदखाता ह|ै _______आयतिच븀䈆 डाटा का सही ⬀ꔃदश堀딄न है



Correct Answer :­  

15)

Question Stimulus :­

Where is the Indian Wild Ass Sanctuary located in India? / भारत म᠀㘆 घड़ुखर अभयार笀帄 कहा ँ洀꼅�थत ह?ै

Gujarat / गजुरात

Rajasthan / राज�थान

Jharkhand / झारखडं

Chhattisgarh /  छ⤀琅ीसगढ़

Correct Answer :­Gujarat / गजुरात 

16)

Question Stimulus :­



Fill up the blank choosing the correct answer. / सही उ⤀琅र चनुकर ᠀퀂र봀뼊 �थान भर᠀㘆

7360 (519+820) =      ­­­­­­­­­­­­­­­­­­­­­­­­­­

7360×519+7360×820

7360×519+820

7360+820+519

7360×519×820

Correct Answer :­7360×519+7360×820 

17)

Question Stimulus :­

In which among the following state is the world famous “Mysore Dasara” celebrated? / िनꀀ밂 म᠀㘆 स ेिकस रा܉䈀 म᠀㘆
िव᠀㘆 ⬀ꔃिस倁偐 ‘‘मसैरू दशहरा’’ मनाया जाता ह?ै

Kerala / केरल

Maharashtra / महारा嘀堅堀딄

Andhra Pradesh / आ븀锇 ⬀ꔃदशे

Karanataka / कना堀딄टक

Correct Answer :­Karanataka / कना堀딄टक 

18)

Question Stimulus :­

Where is “The Great Himalayan National Park” located? / "ꨀ댅टे िहमालयन नशेनल पाक堀딄" कहा ँ洀꼅�थत ह?ै

Madhya Pradesh / म⨀焄 ⬀ꔃदशे

Jammu & Kashmir / जꨀ숅 ूऔर क᠀㘆ीर

Maharashtra / महारा嘀堅堀딄

Himachal Pradesh / िहमाचल ⬀ꔃदशे

Correct Answer :­Himachal Pradesh / िहमाचल ⬀ꔃदशे 

19)

Question Stimulus :­



In which American city is the White House located / अम᠀े퀂रका के कौन स ेशहर म᠀㘆 वाईट हाउस 洀꼅�थत है

Boston / बो堀倅न

Chicago / िशकागो

New York / 崀鸇यूाक堀딄

Washington D.C / वाशीगंटन डी.सी

Correct Answer :­Washington D.C / वाशीगंटन डी.सी 

20)

Question Stimulus :­

DNA, the full form of which is ____________, is a molecule that carries most of the
genetic instructions used in growth of all living organisms./  डीएनए, का पणू堀딄 븀ᤅप ____ह,ै जो एक
अण ुह ैजो आनवुिंशक सभी जीिवत जीवो ंके िवकास म᠀㘆 इ븀眅मेाल िनद嘀堅श का सबस े最쨅ादा वहन करता ह।ै

Duonucleic acid / डओु崀鸇洀ू꼅瀀혂क अꨀ䀄

Deoxyribo nucleic acid  / िडऑ堀倅ीराइबो 崀鸇洀ू꼅瀀혂क अꨀ䀄

Detoxified Nucleic Acid / डटेो堀倅ीफाइड 崀鸇洀ू꼅瀀혂क अꨀ䀄

Dinucleic acid  / 崀鸇洀ू꼅瀀혂क अꨀ䀄

Correct Answer :­Deoxyribo nucleic acid  / िडऑ堀倅ीराइबो 崀鸇洀ू꼅瀀혂क अꨀ䀄 

21)

Question Stimulus :­

Which Indian has scored the most Test centuries in a calendar year? / िनꀀ밂िल洀꼅खत म᠀㘆 िकस भारतीय
न ेएक कैल븀े댆र वष堀딄 म᠀㘆 सवा堀딄िधक ट堀े倅 शतक बनाय ेह嘀堅?

Sachin Tendulkar / सिचन त᠀㘆दलुकर

M.S. Dhoni / एम. एस. धोनी

V.V.S. Lakshman / वी. वी. एस. ल븀眅ण

Virat Kohli / िवराट कोहली

Correct Answer :­Sachin Tendulkar / सिचन त᠀㘆दलुकर 

22)

Question Stimulus :­



Which player is allowed to touch the ball with his feet during a Hockey match? / हॉकी मचै के दौरान अपन ेपरै स ेग᠀㘆द
को छून ेकी अनमुित िकस 洀꼅खलाड़ी को दी जाती ह?ै

Captain / कै⤀䈇न

Goalkeeper / गोल कीपर

Centre‐forward / स᠀㘆टर – फोरवड堀딄

Defender / िडफ़᠀㘆डर

Correct Answer :­Goalkeeper / गोल कीपर 

23)

Question Stimulus :­

Which of the following matches the top/base view of the prism given above? / ऊपर िदय ेगय ेि⬀ꔃ�म के िशखर/आधार
स ेिनꀀ밂 म᠀㘆 स ेकौन सा मले खाता ह?ै



Correct Answer :­  

24)

Question Stimulus :­

Against which country did Germany win the 2014 FIFA World Cup? / िकस दशे के िव礀밂倁偐 जम堀딄नी ने
2014 का फीफा िव᠀㘆कप जीता था?

Spain / ᰀᤅने

Argentina / अज᠀㘆टीना

Netherlands / नीदरल嘀堅ड

Italy / इटली

Correct Answer :­Argentina / अज᠀㘆टीना 

25)

Question Stimulus :­

What is a TKO in boxing? / म�ु堀츅बाजी म᠀㘆 TKO 넀프ा ह?ै

Technical Knockout / ट鄀ेⴊीकल नॉकआउट

Time Kick Out / टाइम िकक आउट

Technical Knowledge / ट鄀ेⴊीकल नॉिलज

Teeth Knockout / तीथ नॉकआउट

Correct Answer :­Technical Knockout / ट鄀ेⴊीकल नॉकआउट 

26)

Question Stimulus :­



The ICC world cup 2019 will be hosted by ________________. / आईसीसी िव᠀㘆 कप
2019 ________________ 븀ᤅारा आयोिजत िकया जाएगा।

India / भारत

England & Wales / इꨀं댅嘀堅ड और व⸂े뀅

South Africa / दि堀딄ण अ⤀琅ीका

Australia / ऑ堀倅堀े딄िलया

Correct Answer :­England & Wales / इꨀं댅嘀堅ड और व⸂े뀅 

27)

Question Stimulus :­

If diagonal of a rhombus are in ratio 1:3, and its area is 6 cm2.   The smaller diagonal of
the rhombus is ___________________ / यिद समचतभु堀ु딄ज के िवकण堀딄 1:3 के अनपुात म᠀㘆 ह嘀堅, और उसका
堀딄븀े䈆फल 6 समेी वग堀딄 ह,ै तो समचतभु堀ु딄ज का छोटा िवकण堀딄 है

4 cm / 4 समेी

6 cm / 6 समेी

2 cm / 2 समेी

3 cm / 3 समेी

Correct Answer :­2 cm / 2 समेी 

28)

Question Stimulus :­

In which of the following is there seasonal unemployment? / िनꀀ밂 म᠀㘆 स ेिकसम᠀㘆 मौसमी बरेोज़गारी ह?ै

Government Sector / सरकारी 堀딄븀े䈆

Private Sector / िनजी 堀딄븀े䈆

Banks / ब嘀堅क

Agriculture / कृिष

Correct Answer :­Agriculture / कृिष 

29)

Question Stimulus :­



A rabbit walks from one corner of a square shape plot to its opposite corner. If it walks
along the sides of the square, it takes 13 minutes to reach the opposite corner.  Had it
walked along the diagonal it would have taken ___________________ minutes for the
rabbit to reach the opposite corner. / एक खरगोश वगा堀딄कार ꨀ欅ॉट के एक कोन ेस ेउसके दूसरे कोन ेतक चलता
ह|ै यिद वह वग堀딄 की भजुाओ ंके िकनारे चलता ह,ै तो िवपरीत कोन ेपर पꨀ琄चँन ेके िलय े13 िमनट लगत ेह嘀堅| अगर वह िवकण堀딄
के परᰀᤅर चला होता, तो उस ेिवपरीत कोन ेपर पꨀ琄चँन ेके िलय_े_______िमनट लग ेहोत|े

13√2

6.5

6√2

Correct Answer :­  

30)

Question Stimulus :­

Repo Rate is determined by_______/ 礀밂पया का दर______븀ᤅारा  िनधा堀딄᠀퀂रत िकया जाता है

SBI / एस.बी.आई

SEBI / एस.ई.बी.आई

RBI / आर.बी.आई

Central Government / क᠀㘆洀꼅 सरकार

Correct Answer :­RBI / आर.बी.आई 

31)

Question Stimulus :­

Which of the following controls the functioning of share market in India? / िनꀀ밂िल洀꼅खत म᠀㘆 स ेकौन भारत के शयेर बाजार
की काय堀딄 प倁偐ित को िनयिं븀䈆त करता ह?ै

FERA

MRTP

FEMA

SEBI



Correct Answer :­SEBI 

32)

Question Stimulus :­

The instrument used in measuring the distance covered by vehicles / वाहनो ं븀ᤅारा तय की गई दूरी
को मापन ेम᠀㘆 ______ उपकरण का उपयोग िकया जाता है

Speedometer / चालमापी

Odometer / पथमापी

Hygrometer / आ洀꼅堀딄तामापी

Hydrometer / हाइड堀딄ोमीटर

Correct Answer :­Odometer / पथमापी 

33)

Question Stimulus :­

Internal trade means / आतं᠀퀂रक 崁뀅ापार का मतलब है

Import / आयात

Export / िनया堀딄त

Trade within the country / दशे के अदंर 崁뀅ापार

None of these / इनम᠀㘆 स ेकोई नहीं

Correct Answer :­Trade within the country / दशे के अदंर 崁뀅ापार 

34)

Question Stimulus :­

When soap dissolves in water, “micelles” are formed .They are chemically, / जब साबनु पानी म᠀㘆 घलुता ह,ै तो
“िमसले” बनत ेह嘀堅। व ेरासायिनक 븀ᤅप स ेहोत ेह嘀堅,

Sodium or Potassium stearate / सोिडयम या पोटिैशयम 洀꼅堀倅यरेट

Calcium or Magnesium stearate / कै洀꼅⸂뀅यम या म⨀ै焄ीिशयम 洀꼅堀倅यरेट

Collection of stearate ions / 洀꼅堀倅यरेट आयनो ंका सꨀं댅ह

Stearic acid / 堀倅ीय᠀퀂रक अꨀ䀄



Correct Answer :­Collection of stearate ions / 洀꼅堀倅यरेट आयनो ंका सꨀं댅ह 

35)

Question Stimulus :­

Find the odd one out / िवषम वाला ᠀㘆ात कीिजए

Meira Kumar / मीरा कुमार

Rabri Devi / राबरी दवेी

Anandiben Patel / आनदंीबने पटले

Jayalalithaa / जयलिलता

Correct Answer :­Meira Kumar / मीरा कुमार 

36)

Question Stimulus :­

Which of the following is an echo‐ranging instrument? / िनꀀ밂 म᠀㘆 स े⬀ꔃितሀ윉िनक परासन य븀ं䈆 कौन सा ह?ै

LASER

SONAR

MASER

GPS

Correct Answer :­SONAR 

37)

Question Stimulus :­

Which of the following characterisĕcs of animals is for adaptaĕon to tropical rainforests? / िनꀀ밂 म᠀㘆 स ेजानवरो ंकी कौन
सी िवशषेताएं उ᠀㘆किटबधंीय वषा堀딄­वनो ंके अनकुूलन के िलए ह?ै

Wide and large paws / चौड़ ेऔर बढ़ ेपजंे

Layer of fat under skin / 眀騅चा के नीच ेवसा की परत

White fur / सफेद फर

Long and large beak / लᤀᤈी और बढ़ी चोचं



Correct Answer :­Long and large beak / लᤀᤈी और बढ़ी चोचं 

38)

Question Stimulus :­

Which one of the following people is not an architect / िनꀀ밂िल洀꼅खत 崁뀅洀꼅봀뼊यो ंम᠀㘆 स ेकौन वा븀眅कुार नही ंह嘀堅

Charles Correa / चा⸂뀅堀딄 को᠀퀂रया

B V Doshi / बी वी दोशी

Raj Reval / राज रेवाल

I K Gujral / आइ के गजुराल

Correct Answer :­I K Gujral / आइ के गजुराल 

39)

Question Stimulus :­

The  metal which gives ruby stone its red colour / वह धात ुजो 븀ᤅबी प謀켇र को उसका लाल रंग ⬀ꔃदान
करती है

Nickel / िनकैल

Chromium / ꨀ댅ोिमयम

Aluminium / एᨁ뀅िुमिनयम

Germanium / जम嘀堅िनयम

Correct Answer :­Chromium / ꨀ댅ोिमयम 

40)

Question Stimulus :­

Removal of clear layer of water without disturbing the seĥled impuriĕes is known as / 洀꼅�थर अश洀꼅倁偐यो ंको िहलाए िबना
जल की ꨀ숅꤀缆 परत को हटाना ________ कहलाता ह।ै

Sedimentaĕon / अवसादन

Decantaĕon / िन븀眅ारण

Filtraĕon / िन븀⬆दंन

Sublimaĕon / ऊधव堀딄पातन



Correct Answer :­Decantaĕon / िन븀眅ारण 

41)

Question Stimulus :­

Coal miners use baĥery powered lamps rather than kerosene lamps & candles because / कोयल ेकी खान म᠀㘆 काम करने
वाल ेलोग केरोिसन ल�ै प तथा मोमब� ती के बजाय बटैरी वाली ल�ै प का उपयोग करत ेह嘀堅, � योिंक

Kerosene lamps & candles are renewable & inexhausĕble / केरोिसन ल�ै प तथा मोमब� ती नवीकरणीय एव ंअ堀딄य
होत ेह嘀堅

Kerosene lamps & candles are renewable  but exhaustible / केरोिसन ल�ै प तथा मोमब� ती
नवीकरणीय लिेकन 堀딄यशील होत ेह嘀堅

Kerosene lamps & candles have open flames & can ignite coal dust or gases / केरोिसन ल�ै प तथा मोमब� ती से
कोयला के बरुादा या गसैो ंम᠀㘆 आग लग सकती है

Kerosene lamps & candles are renewable but causes polluĕon. / केरोिसन ल�ै प तथा मोमब� ती नवीकरणीय तो ह嘀堅
लिेकन ⬀ꔃदूषण का कारण भी होत ेह嘀堅।

Correct Answer :­Kerosene lamps & candles have open flames & can ignite coal dust or gases / केरोिसन ल�ै प
तथा मोमब� ती स ेकोयला के बरुादा या गसैो ंम᠀㘆 आग लग सकती ह ै

42)

Question Stimulus :­

Which famous cartoonist is acclaimed for his work known as “The Common Man”? / कौन स े⬀ꔃिस倁偐 काटूिन堀딄堀倅
उनके काय堀딄 जो िक ‘‘दी कॉमन मनै’’ स ेजाना जाता ह ैके िलए ⬀ꔃशिंसत ह嘀堅?

R.K. Narayan / आर के नारायण

R.K. Laxman / आर के ल븀眅ण

Ajit Ninan / अिजत िननान

Swaminathan Ankelasaria / ꨀ숅ामीनाथन अकंेलास᠀퀂रया

Correct Answer :­R.K. Laxman / आर के ल븀眅ण 

43)

Question Stimulus :­

Who was the first Indian President of the International Court of Justice? / अतंरा堀딄嘀堅堀딄ीय 崀鸇ायालाय के ⬀ꔃथम भारतीय
अ⨀焄堀딄 कौन थ?े

Benegal Rau / बनेगेल राउ



Nagendra Singh / नाग븀े쐆 िसहं

Raghunandan Swarup Pathak / रघनुदंन ꨀ숅븀ᤅप पाठक

Dalveer Bhandari / दलवीर भडंारी

Correct Answer :­Nagendra Singh / नाग븀े쐆 िसहं 

44)

Question Stimulus :­

Presence of sweat glands in the skin is a unique characteristic of_______  /眀騅चा म᠀㘆 ꨀ숅दे ꨀ댅洀꼅⨀묆 की उप洀꼅�थित
______ की अन崀鸇 िवशषेता है

Mammals   븀眅नपायी/

Repĕles / सरीसपृ

Amphibians  उभयचर/

Aves/ पो�堀딄ी

Correct Answer :­Mammals   븀眅नपायी/ 

45)

Question Stimulus :­

Which city among the following is NOT a capital of Indian states? / िनꀀ밂िल洀꼅खत म᠀㘆 स ेकौन भारतीय रा܉䈀ो ंकी एक
राजधानी नही ंह?ै

Chennai / च最촆ई

Imphal / इ�फाल

Pune / पणुे

Panaji / पणजी

Correct Answer :­Pune / पणु े

46)

Question Stimulus :­

Which tissue is the diaphragm made of_______/ डाया⤀琅ाम िकस ऊतक स ेबना ह_ै______

Muscular / पशेीय



Bone / ह愆ी

Cartilage / उप洀꼅�थ

Connective / सयंोजी

Correct Answer :­Muscular / पशेीय 

47)

Question Stimulus :­

The first Restriction enzyme to be isolated was_____ / ⬀ꔃथम ⬀ꔃितबधंन ए�ज़ाइम िजस ेअलग िकया गया था_____

EcoRI / इको आरआई

HindII / िह一꜅।।

Alu I / अल।ू

Bam HI / बमै एचआई

Correct Answer :­HindII / िह一꜅।। 

48)

Question Stimulus :­

Which city is called Garden city of India? / िकस शहर को भारत का बागो ंका शहर कहा जाता ह?ै

Bangalore / बगंलोर

Mumbai / मुंबई

Chennai / च最촆ई

Kochi / को⬀ꔃी

Correct Answer :­Bangalore / बगंलोर 

49)

Question Stimulus :­

A contractor finished a work in 4 days working 6 hours daily. How many hours will he need to work to complete the
same work in three days? / एक ठेकेदार न े⬀ꔃितिदन 6 घटं ेकाम करके एक काय堀딄 को 4 िदनो ंम᠀㘆 परूा िकया। उसी काय堀딄
को 3 िदनो ंम᠀㘆 परूा करन ेके िलए उस े⬀ꔃितिदन िकतन ेघटं ेकाम करन ेकी आव嘀堅कता होगी?

10



9

8

None / कोई भी नहीं

Correct Answer :­8 

50)

Question Stimulus :­

The average score of a group of students is 75. The brightest 28% of them secured an
average score of 85 and the dullest 27% of them secured 38.The average score of
remaining is? /  छा븀䈆ो ंके एक समहू का औसत 냿眅ोर 75 ह।ै उनम᠀㘆 स े28% सबस ेतजे छा븀䈆ो ंन े85 का औसत 냿眅ोर
बनाया और उनम᠀㘆 स े27% सबस ेकमजोर छा븀䈆ो ंन े38 का औसत 냿眅ोर बनाया। शषे का औसत 냿眅ोर 넀프ा ह?ै

91

88

93

85

Correct Answer :­91 

51)

Question Stimulus :­

Which among the following States was the first to have a Woman Chief Minister? / िनꀀ밂 म᠀㘆 स ेकौन सा पहला रा܉䈀
था िजसम᠀㘆 मिहला मꨀु댅म븀ं䈆ी थी?

Bihar / िबहार

Tamil Nadu / तिमल नाडु

Delhi / िदᨁ뀅ी

Uttar Pradesh / उ⤀琅र ⬀ꔃदशे

Correct Answer :­Uttar Pradesh / उ⤀琅र ⬀ꔃदशे 

52)

Question Stimulus :­

The ratio between the present ages of A and B is 6 : 7. If B is two years old than A, what
will be the ratio of the ages of A and B after 4 years? / वत堀딄मान म᠀㘆 A और  B की आय ुके बीच का



अनपुात 6 : 7 ह।ै यिद B, A स ेआय ुम᠀㘆 दो वष堀딄 बड़ा ह,ै तो 4 साल बाद A और B की आय ुका अनपुात 넀프ा होगा?

6 : 7

7 : 8

8 : 9

None of the above / उपरो봀뼊 कोई नहीं

Correct Answer :­8 : 9 

53)

Question Stimulus :­

Who is the present Chief Minister of Goa? / गोवा के वत堀딄मान मꨀु댅 म븀ं䈆ी कौन ह嘀堅?

Manohar Parikkar / मनोहर प᠀퀂र堀츅र

Laxhmikanth Parsekar / ल븀眅ीका᠀㘆 पास嘀堅कर

Devendra Fadnavis / दवे븀े쐆 फड़निवस

H D Kumarswamy / एच डी कुमारꨀ숅ामी

Correct Answer :­Laxhmikanth Parsekar / ल븀眅ीका᠀㘆 पास嘀堅कर 

54)

Question Stimulus :­

The Constitution of India recognizes / भारत का सिंवधान इस ेपहचानता है

religious and linguistic minorities / धािम堀딄क एव ंभाषाई अ뗼�सꨀं댅क

only linguistic minorities / केवल भाषाई अ뗼�सꨀं댅क

only religious minorities / केवल धािम堀딄क अ뗼�सꨀं댅क

religious, linguistic and ethnic minorities / धािम堀딄क, भाषाई एव ंजातीय अ뗼�सꨀं댅क

Correct Answer :­religious and linguistic minorities / धािम堀딄क एव ंभाषाई अ뗼�सꨀं댅क 

55)

Question Stimulus :­



Mahesh got married 6 years ago. His present age is  times his age at the time of his marriage. Mahesh’s sister was
10 years younger to him at the time of his marriage. The age of Mahesh’s sister is: / 6 साल पहल ेमहशे की शादी ꨀ琄ई

थी। वत堀딄मान म᠀㘆 उसकी आय ुशादी के समय पर उसकी आय ुकी  गनुा ह।ै उसकी शादी के समय पर महशे की बहन उससे
10 वष堀딄 छोटी थी। महशे की बहन की आय ुह:ै

20 years / 20 वष堀딄

28 years / 28 वष堀딄

30 years / 30 वष堀딄

40 years / 40 वष堀딄

Correct Answer :­20 years / 20 वष堀딄 

56)

Question Stimulus :­

In which of these places were two important battles fought by the Mughals? / िनꀀ밂िल洀꼅खत म᠀㘆 िकस �थान पर मग़ुलों
븀ᤅारा दो मह眀騅पणू堀딄 य倁ु偐 लड़ी गयी?

Benaras / बनारस

Kalinga / किलगंा

Panipat / पानीपत

Patna / पटना

Correct Answer :­Panipat / पानीपत 

57)

Question Stimulus :­

2/3rd of 93 / 93 का 2/3वा ँह:ै

59

68

71

62

Correct Answer :­62 



58)

Question Stimulus :­

Two Fifth of 500 how much more than one fourth of 200? / 500 का दो पाचँवा,ँ 200 के एक चौथाई
स ेिकतना अिधक ह?ै

100

75

150

50

Correct Answer :­150 

59)

Question Stimulus :­

Who among the following built the statue of Gomateshwara at Sravanabelagola / 娀褅वणबलेोगलेा म᠀㘆 गोम�े᠀㘆र की मिूत堀딄
िनꀀ밂 म᠀㘆 स ेिकसन ेबनाई थी?

Chamundaraya / चामुंदाय堀딄

Jayachamarajendra Wadiyar / जयचमराज᠀㘆洀꼅 वािडयार

Tipu Sultan / टीप ूस最ु伇ान0

Krishnadevaraya / कृ᠀㘆दवेराय

Correct Answer :­Chamundaraya / चामुंदाय堀딄 

60)

Question Stimulus :­

In a lottery priced at Rs. 5, only one lucky winner would receive Rs.1,00,000. At least how many such lottery
tickets should be sold, if the sponsor wants to earn a profit of 20% on sales from the lottery? / 5 礀밂पय ेमᨁू뀅 वाली
एक लॉटरी म᠀㘆, केवल एक भा㐀밂शाली िवजतेा 1,00,000 븀ᤅपए ⬀ꔃा븀耈 करेगा। कम स ेकम ऐस ेिकतन ेलॉटरी िटकट बचेे
जान ेचािहए, यिद ⬀ꔃायोजक लॉटरी की िबꨀ댅ी पर 20% का लाभ अिज堀딄त करना चाहता ह?ै

12, 000

12, 500

24, 000

25, 000



Correct Answer :­24, 000 

61)

Question Stimulus :­

Fill in the missing alphabets  / ल븀ु耈 अ堀딄र भ᠀퀂रए

ba__ab__baa__b__

a, b, a, b

b, a, b, a

a, a, a, b

b, b, b, a

Correct Answer :­a, b, a, b 

62)

Question Stimulus :­

Which of the following was not a part of the Empire of Ashoka? / िनꀀ밂 म᠀㘆 स ेकौन सा, अशोक के साꄀ댅ा܉䈀 का िह逎偐ा
नही ंथा?

Kalinga / किलगं

Sri Lanka / 娀褅ीलकंा

Afghanistan / अफगािन븀眅ान

None of these / इनम᠀㘆 स ेकोई नहीं

Correct Answer :­Sri Lanka / 娀褅ीलकंा 

63)

Question Stimulus :­

6% of 300 is / 300 का 6% ह:ै

18

28

32

16



Correct Answer :­18 

64)

Question Stimulus :­

The ratio of width of the Indian National flag to its length is ____. / भारत के रा嘀堅堀딄ीय झ∀爆 ेकी चौड़ाई का उसकी
लबंाई स ेअनपुात ____________ ह।ै

3:5

2:4

3:4

2:3

Correct Answer :­2:3 

65)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनꀀ밂 चार पतो ंम᠀㘆 स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Tussey Mountain Outfitters, Inc.

226 N. Water Street

Bellefonte, PA 16823

(814) 355­5690

 

(i)     Tussey Mountain Outfitters, Inc.

226 N. Water Street

Bellefonte, PA 16828

(814) 355­5690

 

(ii)    Tussey Mountain Outfitters, Inc.

226 N. Water Street

Bellefonte, PA 16823



(814) 355­5690

 

(iii)   Tussey Mountain Outfitters, Inc.

226 N. Water Street

Bellefonte, PA 16823

(814) 355­5690

 

(iv)   Tussey Mountain Outfitters, Inc.

226 N. Water Street

Bellefonte, PA 16823

       (814) 355­5690

i

ii

iii

iv

Correct Answer :­i 

66)

Question Stimulus :­

Which is the second highest civilian award in India? / भारत म᠀㘆 दूसरा सवᰀꐆ⬀ꔃ नाग᠀퀂रक परु냿眅ार कौन­सा ह?ै

Padmashree / प嬀✇娀褅ी

Padma Bhushan / प嬀✇भषूण

Padma Vibhushan / प嬀✇िवभषूण

Bharat Ratna / भारत र㔀쀆

Correct Answer :­Padma Vibhushan / प嬀✇िवभषूण 

67)

Question Stimulus :­



Select the statement which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक堀딄 की �洀꼅嘀堅 स ेिदय ेगय ेकथन के समान ह:ै

If I read 10 hrs per day, then I can pass the exam. / यिद म嘀堅 10 घ᠀㘆 ेिदन म᠀㘆 पढ़ू,ँ तो म嘀堅 परी堀딄ा उ⤀琅ीण堀딄 कर
सकती 븀옆।ँ

If I don’t read 10 hrs per day, then I cannot pass the exam / यिद म嘀堅 10 घ᠀㘆 े⬀ꔃितिदन न पढ़ू,ँ तो म嘀堅 परी堀딄ा उ⤀琅ीण堀딄 नहीं
कर सकता

If I failed in the exam, then I haven’t read 10 hrs a day / यिद म嘀堅 परी堀딄ा म᠀㘆 अन⤀ु琅ीण堀딄 हो गया, तो म嘀堅न े⬀ꔃितिदन 10 घ᠀㘆े
नही ंपढ़ा है

If I passed the exam, then I had read 10 hrs per day / यिद म嘀堅न ेपरी堀딄ा उ⤀琅ीण堀딄 की, तो म嘀堅न े⬀ꔃितिदन 10 घ᠀㘆 ेपढ़ा है

None of the above / उपरो봀뼊 कोई नहीं

Correct Answer :­If I failed in the exam, then I haven’t read 10 hrs a day / यिद म嘀堅 परी堀딄ा म᠀㘆 अन⤀ु琅ीण堀딄 हो गया, तो
म嘀堅न े⬀ꔃितिदन 10 घ᠀㘆 ेनही ंपढ़ा ह ै

68)

Question Stimulus :­

The largest democraĕc country in the world by populaĕon is____. / जनसꨀं댅ा की �ि嘀堅 स ेिव᠀㘆 का सबस ेबड़ा
लोकतािं븀䈆क दशे ह_ै__।

USA / य ूएस ए

China / चीन

India / भारत

Japan / जापान

Correct Answer :­India / भारत 

69)

Question Stimulus :­

Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक堀딄 की �洀꼅嘀堅 स ेिदय ेगय ेकथन के समान ह:ै

“If you don’t work hard, then you will not pass” / “यिद तमु किठन महेनत न करो, तो तमु उ⤀琅ीण堀딄 नहीं
होग”े

If you work hard, you will pass / यिद तमु किठन महेनत करो, तो तमु उ⤀琅ीण堀딄 हो जाओगे

If you don’t work hard, you will pass / यिद तमु किठन महेनत न करो, तो तमु उ⤀琅ीण堀딄 हो जाओगे



Work hard, or you will not pass / महेनत करो, या तमु उ⤀琅ीण堀딄 नही ंहोगे

If you pass, then you have worked hard / यिद तमु उ⤀琅ीण堀딄 हो जाओ, तो तमुन ेमहेनत की है

Correct Answer :­If you pass, then you have worked hard / यिद तमु उ⤀琅ीण堀딄 हो जाओ, तो तमुन ेमहेनत की ह ै

70)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the other three? / िनꀀ밂
चार पतो ंम᠀㘆 स ेकौन सा एक बाकी तीन के एकदम समान नही ंह?ै

 

i.Paul Wolfowitz

No. 999, University Street

Montreul, PQ

CANADA H3C5H7

 

ii. Paul Wolfowitz

No. 999, University Street

Montreal, PQ

CANADA H3C5H7

 

iii. Paul Wolfowitz

No. 999, University Street

Montreal, PQ

CANADA H3C5H7

 

iv. Paul Wolfowitz

No. 999, University Street

Montreal, PQ       

CANADA H3C5H7

i

ii



iii

iv

Correct Answer :­i 

71)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक뗼� चिुनये
जो िदय ेगय ेकथनो ंऔर िन嘀堅ष堀倅 के बारे म᠀㘆 सही ह:ै

Statements: / कथन:

Some apples are bags. / कुछ सबे ब븀眅 ेह嘀堅।

All apples and bags are cars. / सभी सबे और ब븀眅 ेकार ह嘀堅।

Some cars are doctors. / कुछ कार᠀㘆 डॉ쬀ꀅर ह嘀堅।

 

Conclusions: / िन嘀堅ष堀딄:

i.Some apples are doctors. / कुछ सबे डॉ쬀ꀅर ह嘀堅।

ii.All doctors are bags. / सभी डॉ쬀ꀅर ब븀眅 ेह嘀堅।

If only conclusion I follows / यिद केवल िन嘀堅ष堀딄 I िनकलता है

If only conclusion II follows / यिद केवल िन嘀堅ष堀딄 II िनकलता है

If both conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II दोनो ंिनकलत ेह嘀堅

If none of the conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II म᠀㘆 स ेकोई नही ंिनकलता है

Correct Answer :­If none of the conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II म᠀㘆 स ेकोई नही ंिनकलता
ह ै

72)

Question Stimulus :­

Mahabhasya ­ an outstanding work in the field of grammar ­ is a composition by: / महाभा堀倅 ­ 崁뀅ाकरण के
堀딄븀े䈆 म᠀㘆 एक उ᠀㘆嘀堅 काय堀딄 ­ एक सरंचना ह ैइनके 븀ᤅारा:

Ashwins / आि᠀㘆न

Ghosha / घोष



Kakshivat / क堀딄ीवत

Patanjali / पतजंिल

Correct Answer :­Patanjali / पतजंिल 

73)

Question Stimulus :­

A man traveled a distance of 61 km in 9 hr. He traveled partly on bicycle at 9 kmph, and on foot at a speed of 4 kmph.
The distance traveled on foot is: / एक 崁뀅洀꼅봀뼊 न े61 िकमी की या븀䈆ा 9 घटं ेम᠀㘆 की। उसन ेआिंशक या븀䈆ा 9 िकमी ⬀ꔃितघटंा की
गित म᠀㘆 साईकल पर की तथा 4 िकमी ⬀ꔃितघटंा की गित स ेपदैल की। पदैल या븀䈆ा करन ेपर िनꀀ밂 म᠀㘆 स ेिकतनी दूरी तय की?

16 km / 16 िकमी

25 km / 25 िकमी

30 km / 30 िकमी

45 km / 45 िकमी

Correct Answer :­16 km / 16 िकमी 

74)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक뗼� चिुनये
जो िदय ेगय ेकथनो ंऔर िन嘀堅ष堀倅 के बारे म᠀㘆 सही ह:ै

Statements: / कथन:

Some clocks are lighters. / कुछ घिड़या ँलाइटर ह嘀堅।

Some lighters are clocks as well as cars. / कुछ लाइटर घिड़या ँह嘀堅 एव ंकार᠀㘆 भी ह嘀堅।

 

Conclusions: / िन嘀堅ष堀딄:

i. Some cars are clocks. / कुछ कार᠀㘆 घिड़या ँह嘀堅।

ii. Some cars are lighters. / कुछ कार᠀㘆 लाइटर ह嘀堅।

If only conclusion I follows / यिद केवल िन嘀堅ष堀딄 I िनकलता है

If only conclusion II follows / यिद केवल िन嘀堅ष堀딄 II िनकलता है

If both conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II दोनो ंिनकलत ेह嘀堅



If none of the conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II म᠀㘆 स ेकोई नही ंिनकलता है

Correct Answer :­If both conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II दोनो ंिनकलत ेह嘀堅 

75)

Question Stimulus :­

A book seller buys 180 books at Rs.6 each and sells at Rs.8 each and 50 bags at Rs.78 each and sells at Rs.85.
Which item will give him more money through profit? / एक प븀ु眅क िवꨀ댅ता 180 प븀ु眅को ंको ⬀ꔃꨀ묅के प븀ु眅क 븀ᤅपय े6 के
िहसाब स ेखरीदता ह ैतथा ⬀ꔃꨀ묅के को 븀ᤅपय े8 म᠀㘆 बचेता ह ैएव ं50 थलैो ंको ⬀ꔃꨀ묅के थलैा 븀ᤅपय े78 के िहसाब स ेखरीद कर
븀ᤅपय े85 म᠀㘆 बचेता ह।ै कौन सी व븀眅 ु븀ᤅारा लाभ के 븀ᤅप म᠀㘆 उस ेअिधक पसै े⬀ꔃा븀耈 होगं?े

Books  / प븀ु眅क᠀㘆

Bags / थलैे

Both / दोनों

None of these / इनम᠀㘆 स ेकोई नहीं

Correct Answer :­Books  / प븀ु眅क᠀㘆 

76)

Question Stimulus :­

Who among the following is winner of IIFA Award 2016 for Best Actor / िनꀀ밂 म᠀㘆 स ेसव堀딄娀褅᠀े㘆 अिभनतेा के िलए IIFA
परु냿眅ार 2016 का िवजतेा कौन है

Shahrukh Khan / शाह礀밂ख खान

Salman Khan / सलमान खान

Ranveer Singh / रणवीर िसहं

Amitabh Bachchan / अिमताभ ब⬀ꔃन

Correct Answer :­Ranveer Singh / रणवीर िसहं 

77)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक뗼� चिुनये
जो िदय ेगय ेकथनो ंऔर िन嘀堅ष堀倅 के बारे म᠀㘆 सही ह:ै

Statements: / कथन:

All chairs are ducks. / सभी कुिस堀딄या ँब⤀琅ख ह嘀堅।



Some chairs are elephants. / कुछ कुिस堀딄या ँहाथी ह嘀堅।

All elephants are fruits. / सभी हाथी फल ह嘀堅।

 

Conclusions: / िन嘀堅ष堀딄:

i.Some chairs are fruits. / कुछ कुिस堀딄या ँफल ह嘀堅।

ii.Some elephants are ducks. / कुछ हाथी ब⤀琅ख ह嘀堅।

If only conclusion II follows / यिद केवल िन嘀堅ष堀딄 II िनकलता है

If only conclusion I follows / यिद केवल िन嘀堅ष堀딄 I िनकलता है

If both conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II दोनो ंिनकलत ेह嘀堅

If none of the conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II म᠀㘆 स ेकोई नही ंिनकलता है

Correct Answer :­If both conclusion I and II follows / यिद िन嘀堅ष堀딄 I और II दोनो ंिनकलत ेह嘀堅 

78)

Question Stimulus :­

Find the next term in the series 12,6,11,6,10,6,__________ / 娀褅खंला म᠀㘆 अगला पद ᠀㘆ात कीिजए
12,6,11,6,10,6,__________

8

9

10

11

Correct Answer :­9 

79)

Question Stimulus :­

Who is the President of the World Bank? / िव� व ब嘀堅क का अ� य堀딄 कौन ह?ै

Jim Yong Kim / िजम योगं िकम

Ban Ki Moon / बान की मनू

Strauss Kahn / � ट堀딄ॉस कॉन



Kaushik Basu / कौिशक बसु

Correct Answer :­Jim Yong Kim / िजम योगं िकम 

80)

Question Stimulus :­

The country that shares longest border with India is _________. / भारत के साथ सबस ेलबंी सीमा साझा करने
वाला दशे ह ै__________ ह।ै

China / चीन

Bangladesh / बाꨀं댅ादशे

Nepal / नपेाल

Pakistan / पािक븀眅ान

Correct Answer :­Bangladesh / बाꨀं댅ादशे 

81)

Question Stimulus :­

Which committee was set up to explore alternatives to pellet guns in Kashmir? / क� मीर म᠀㘆 पलेट गन के िवक� प
तलाशन ेके िलए िकस कमटेी का गठन िकया गया था?

Srikrishna Committee / 娀褅ीकृ� ण कमटेी

TVSN Prasad Committee / टीवीएसएन ⬀ꔃसाद कमटेी

Anil Goswami Committee / अिनल गो� वामी कमटेी

Nippendra Mishra Committee / िनप�े 洀꼅 िम娀褅ा कमटेी

Correct Answer :­TVSN Prasad Committee / टीवीएसएन ⬀ꔃसाद कमटेी 

82)

Question Stimulus :­

Madhya Pradesh earns a significant amount in foreign exchange from: / म⨀焄 ⬀ꔃदशे इस फसल स ेिवदशेी म洀ु꼅ा म᠀㘆
एक मह眀騅पणू堀딄 रािश कमाता ह:ै

Rose / गलुाब

Cotton / कपास

Soya bean / सोयाबीन



Groundnut / मूंगफली

Correct Answer :­Soya bean / सोयाबीन 

83)

Question Stimulus :­

Which of the following states is NOT on the border of Odisha? / िनꀀ밂 म᠀㘆 स ेकौन सा रा܉䈀 ओड़ीशा की सीमा नही ंह?ै

Chhattisgarh / छ⤀琅ीसगढ़

Jharkand / झारख∀爆

Bihar / िबहार

West Bengal / पि嘀堅म बगंाल

Correct Answer :­Bihar / िबहार 

84)

Question Stimulus :­

Mahatma Gandhi tried for many years, but what was finally created by Gangabehn Majumdar? / महाꄀ밂ा गाधँी ने
कई वष堀倅 तक कोिशश की, लिेकन अतंत: गगंाब逎े偐 मजमूदार 븀ᤅारा 넀프ा बनाया गया था?

The word ‘Harijan’/ शꀄ聀 'ह᠀퀂रजन'

Wooden sandals / खड़ाऊँ

Charkha / चरखा

Rimmed spectacles / िकनारी वाला च᠀㘆ा

Correct Answer :­Charkha / चरखा 

85)

Question Stimulus :­

Find the next term in the series. / 娀褅खंला म᠀㘆 अगला पद ᠀㘆ात कीिजए।



Correct Answer :­  

86)

Question Stimulus :­

MNREGA stands for_______. / MNREGA स ेता逎偐य堀딄 ह ै________।

Mahatma Gandhi Naĕonal Rural Educaĕon Guarantee Act / महाꄀ밂ा गाधंी न櫿े堅ल 븀ᤅरल एडकुेशन गारंटी ऐ쬀ꀅ

Mahatma Gandhi Naĕonal Rural Employment Guarantee Act / महाꄀ밂ा गाधंी न櫿े堅ल 븀ᤅरल ए�ꨀ欅ॉयम᠀㘆ट गारंटी
ऐ쬀ꀅ

Mahatma Gandhi Naĕonal Right Empowerment Guarantee Act / महाꄀ밂ा गाधंी न櫿े堅ल राइट ए밂ावरम᠀㘆ट गारंटी
ऐ쬀ꀅ

Mahatma Gandhi Naĕonal Right Employment Guarantee Act / महाꄀ밂ा गाधंी न櫿े堅ल राइट ए�ꨀ欅ॉयम᠀㘆ट गारंटी
ऐ쬀ꀅ

Correct Answer :­Mahatma Gandhi Naĕonal Rural Employment Guarantee Act / महाꄀ밂ा गाधंी न櫿े堅ल 븀ᤅरल
ए�ꨀ欅ॉयम᠀㘆ट गारंटी ऐ쬀ꀅ 

87)

Question Stimulus :­

Which monument has a diameter of 14.32 metres at the base and about 2.75 metres at the top? / िकस 븀⬆ारक के आधार
का 崁뀅ास 14.32 मीटर ह ैऔर शीष堀딄 का लगभग 2.75 मीटर ह?ै

Lotus Temple / कमल मिंदर

Sanchi Stupa / साचँी 븀眅पू

Qutb Minar / क़ुतबु मीनार

Gol Gumbaz / गोल गᤀुᤈज़



Correct Answer :­Qutb Minar / क़ुतबु मीनार 

88)

Question Stimulus :­

In a certain language ‘dona hona khona’ means ‘send by post’ and ‘demk dona delf’ means ‘ beyond red post’ . Then in
that language the word ‘dona’ is used for: / िकसी खास भाषा म᠀㘆 ‘dona hona khona’ का मतलब ह ै‘send by post’ और
‘demk dona delf’ का मतलब ह ै‘beyond red post’। तो उस भाषा म᠀㘆 शꀄ聀 ‘dona’ इसके िलए ⬀ꔃयोग होता ह:ै

send

beyond

post

red

Correct Answer :­post 

89)

Question Stimulus :­

‘Global Tiger Day’ is observed on which day? / ‘िव᠀㘆 बाघ िदवस’ िकस िदन मनाया जाता ह?ै

July 27th / जलुाई 27

July 29th / जलुाई 29

July 17th / जलुाई 17

July 19th / जलुाई 19

Correct Answer :­July 29th / जलुाई 29 

90)

Question Stimulus :­

Akhil le├ home for the bus stop 20 minutes earlier than as usual. It takes 15 minutes to reach the stop. He reached the
stop at 09.45 am.What ĕme does he usually leave home for the bus stop? / अ洀꼅खल न᠀㘆 बस 堀倅ॉप के िलय ेघर छोड़ा
सामा崀鸇 स े20 िमनट पहल।े 堀倅ॉप पर पꨀ琄चँन ेके िलए 15 िमनट लगत ेह嘀堅। वह 堀倅ॉप पर ⬀ꔃात: 09:45 पर पꨀ琄चँ गया। िकस
समय वह सामा崀鸇त: बस 堀倅ॉप के िलए घर छोड़ता ह?ै

9.45 AM / ⬀ꔃात: 9.45

9.50 AM / ⬀ꔃात: 9.50



9.55 AM / ⬀ꔃात: 9.55

None of the above / उपरो봀뼊 कोई नहीं

Correct Answer :­9.50 AM / ⬀ꔃात: 9.50 

91)

Question Stimulus :­

Prime minister of India who was born in Madhya Pradesh is / भारत के ⬀ꔃधानम븀ं䈆ी िजनका जꀎ偐 म⨀焄 ⬀ꔃदशे म᠀㘆 ꨀ琄आ था
______

A B Vajpayee  / ए बी वाजपयेी

I K Gujral / आई के गजुराल

H D Deva Gowda / एच डी दवे ेगोड़ा

P V Narasimha Rao / पी वी नरिस퀜聀ा राव

Correct Answer :­A B Vajpayee  / ए बी वाजपयेी 

92)

Question Stimulus :­

When Sarthak looked at his watch, it showed the time as 4:30. If the minutes hand points towards east,
then towards which direction will the hours hand point? / जब साथ堀딄क न ेअपनी घड़ी म᠀㘆 दखेा, तो उसन ेसमय
िदखाया 4:30। यिद िमनट हाथ पवू堀딄 की ओर सकंेत करता ह,ै तो िकस िदशा के ओर घ᠀㘆ा हाथ सकंेत करेगा?

North / उ⤀琅र

North­East / उ⤀琅र­पवू堀딄

South­East / दि堀딄ण­पवू堀딄

North­West / उ⤀琅र­पि嘀堅म

Correct Answer :­North­East / उ⤀琅र­पवू堀딄 

93)

Question Stimulus :­

Which State government in India has recently launched ‘Smart Village’ program to improve public faciliĕes in the
villages? / भारत के िकस रा܉䈀 सरकार न ेहाल ही म᠀㘆 गावंो ंम᠀㘆 साव堀딄जिनक सिुवधाओ ंम᠀㘆 सधुार के िलए '븀⬆ाट堀딄 िवलजे' काय堀딄ꨀ댅म
श븀ुᤅ िकया ह?ै

Madhya Pradesh / म⨀焄 ⬀ꔃदशे



Tamilnadu / तिमलनाडु

Karnataka / कना堀딄टक

Gujarat / गजुरात

Correct Answer :­Gujarat / गजुरात 

94)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेꨀ댅म म᠀㘆 अगली आकृित कौन सी होगी?

Correct Answer :­  

95)



Question Stimulus :­

In how many ways can 5 balls be selected out of 12 balls? / 12 ग᠀㘆दो ंम᠀㘆 स े5 ग᠀㘆दो ंको िकतन े⬀ꔃकार स ेचनुा जा सकता ह?ै

924

495

792

None of these / इनम᠀㘆 स ेकोई नहीं

Correct Answer :­792 

96)

Question Stimulus :­

CANCELLED

A is the brother of B, who is the mother of C, who is the husband of D, and who is the
daughter­in­law of E. How is E related to A? / A, B का भाई ह,ै जो C की माता ह,ै जो D का पित ह,ै और
जो E की बꨀ琄 ह।ै E, A स ेकैस ेसबंिंधत ह?ै

Father / िपता

Mother / माता

Brother / भाई

Brother‐in‐law / दवेर

Correct Answer :­Brother‐in‐law / दवेर 

97)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िनꀀ밂 ⬀ꔃ櫿堅 म᠀㘆, पहल ेशꀄ聀 का दूसरे शꀄ聀 के साथ  िकसी ⬀ꔃकार स ेकोई सबंधं ह।ै यिद तीसरे शꀄ聀 का चौथ ेशꀄ聀 के
साथ उसी ⬀ꔃकार का सबंधं होना चािहए, तो चौथा शꀄ聀 होगा:

TRAIN : STATION : : AEROPLANE : ? / रेलगाड़ी : 堀倅शेन :: िवमान : ?

AERODROME / िवमानअ愆ा

HANGER / ह嘀堅गर

AIRPORT / िवमान प⤀琅न



None of these / इनम᠀㘆 स ेकोई नहीं

Correct Answer :­AERODROME / िवमानअ愆ा 

98)

Question Stimulus :­

A + B means that A is B’s daughter. / A + B का मतलब ह ैिक A, B की बटेी ह।ै

A x B means that A is B’s son. / A x B का मतलब ह ैिक A, B का बटेा ह।ै

A ­ B means that A is B’s wife. / A ­ B का मतलब ह ैिक A, B की प㔀쀆ी ह।ै

If the relationship P and S is represented as P x Q ­ S, then, which of the following is
always TRUE? / यिद P और S के बीच का सबंधं P x Q – S स ेदशा堀딄या गया ह,ै तो, िनꀀ밂 म᠀㘆 स ेकौन सा हमशेा सꨀ묅 ह?ै

S is Q’s wife. / S, Q की प㔀쀆ी ह।ै

S is P’s father. / S, P के िपता ह嘀堅।

P is Q’s daughter. / P, Q की बटेी ह।ै

Q is P’s father. / Q, P के िपता ह嘀堅।

Correct Answer :­S is P’s father. / S, P के िपता ह嘀堅। 

99)

Question Stimulus :­

How is my sister’s father’s father’s brother related to me? / मरेी बहन के िपता के िपता का भाई मझुस ेकैस ेसबंिंधत
ह?ै

Uncle / अकंल

Grandfather / दादा

Granduncle / दादा(का भाई)

None of the above / उपरो봀뼊 कोई नहीं

Correct Answer :­Granduncle / दादा(का भाई) 

100)

Question Stimulus :­

Which of the following is the mirror image of GLASS? / िनꀀ밂 म᠀㘆 स ेकौन सा GLASS का दप堀딄ण ⬀ꔃितिबᤀᤈ ह?ै



Correct Answer :­  


